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The shadow of tower becomes 60m longer when the altitude
of the sun changes from 45” to 30”. Then the height of the
tower is-

ZTaY <Rl BTAT 60 HIET Tiat & ATl 8, ST T ohil I+ h10T
45° | T=TeRT 30° BT BT ATAT | a7 219 il F=T18 8-

A.20(V/3 +1)m B.24(V/3 + 1) m
c.30(v/3+1)m p.30(V3 — 1) m
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Two posts are x metres apart and the height of one
IS double that of the other. If from the mid-point of
the line joining their feet, an observer finds the angular

elevations of their tops to be complementary, then
the height (in metres) of the shorter post is

< E x "l F g W E ST TF FOIAE, A
T Bl 9ETER, 4fE 399 a9l H WS arell @i %
gl 9 Uk Tdaeeh, 39k 0l oh 3199 iU G
TF U@l 2, A B @Y F HAR fHad HeX 22

X

B 5
Mo @7 Ox2 @f
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A person goes to his office at 1/4"of the speed at
which he returns from his office. If the average
speed during the whole trip is 15 km/h, then what
is the speed of the person while he was going to
his office?

U AT 9 Fed f519 T1fd 9 =) 999 Al 8, 399
TH-FIE M 98 0 FEed o gl aE [
(trip) o <RE 3iea g 15 fersfl./sa @, @ wataa S
o SR SHHI A A @ OB?

(1) % km/h/f®dL/"e (2) 9 km/h /TRHt. /"

(3) 125 km/h/fsHL/H2a (4) %_’ km /h /fedt /=
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A bus covers four successive 3 km stretches at
speed of 10 km/hr, 20 km/hr, 30 kin/hr and 60
km /hr respectively. Its average speed over this dis-
tance is

T o9, 3 fodl @9 4 @S A 10 foHi=a, 20
fedi/=ar, 30 fodi/=a agn 60 fedi/se &1 1fd ¥ R
F B qEIER, 39 99 HI 5§ @ & fau, sfwa wfq
fepat off?

(1) 30 km/hr / f&Hi/Ea  (2) 25 km/hr / T/
(3) 20 km/hr / f&Hi/sia (4) 10 km/hr / TwH/E
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A car covers four successive 7 ki distances at
speeds of 10 km/hour, 20 km/hour, 30 kmm/hour
and 60 km/hour respectively. Its average speed
over this distance is

Th SR Ha-9rd feHl. 1 v ar sRAl i e 10
fersii/=iar, 20 foHl/=ie, 30 fwHl./=e, 60 fRHLL/He =i
Tfa 9 93 ! T3 U 5 oAU SH! ia Tifg == 22
(1) 30 km/hour / f&Hi/=a

(2) 20 km/hour / f&Hi/=Ea
(3) 60 km/hour / f&Hi/=e
(4) 40 km/hour / f&Hi/=
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P and Q starting simultaneously from two different
places proceed towards each other at a speed of 20
km/hour and 30 km/hour respectively. By the time
they meet each other. Q has covered 36 km more
than that of P The distance (in km.) between the two

places is

P 3R Q ¥ T T @ wae: 20 fFHi/sa 3R 30
feei/sier 1 G ¥ TH-TW HT 3R T TE FA 2
e T d AR e g ak QI3 PH
36 Tt gt s1feer 97 =11 AT T & o9 0 (Toret
¥) fohet 7 2

(1) 144 (2) 162 (3) 180  (4) 108
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T HW AN x Ty hT 3T Teh ATA HAM: 60 Terenwiex ufer gt qor 80 ferenwier ufer ger
TTA | TEAT § A R U Uge ATt 3R O q0e 7Y ATt § iR 95t & 30 Freifiet ae &
qTg it e o AT W wR § Ut § x aﬁ'{y éaaﬁ%rsﬁaj}w%? Two cars move
simultaneously from place x to y at a speed of 60 kilometres per hour and 80 kilometres per
hour respectively. The fast car reaches first and comes back and after going 30 km from there

meet with slow going car. What is the distance between x and y?

1. 210 km
2. 200 km
3. 190 km
4. 180 km
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Teh TN T AR & 300 Hiet 0T § TRt uid fime 40 fia i g mg awxar @
ot R gid frme 45 wed st gt oo ot 2 foha foee o e Stgt Emer sy o or
Wﬁﬁﬁﬁﬁﬂiﬁiﬁmwmﬁmm? A rabbit is 300 meters ahead

of a jackal, the rabbit travels 40 meters per minute and the jackal covers a distance

of 45 meters per minute, in how many minutes and at how many meters from where
the rabbit was initially the jackal Will catch?

1. 60 min, 2400 meter
2. 60 min , 2800 meter
3. 80 min, 2400 meter
4. 80 min , 2800 metre
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Walking - of his usual speed, a person reaches

his office 10 minutes later than the usual time.
His usual time in minutes is :

Ush Afed w—?‘iwwﬁrﬁgﬂﬁrﬁaﬁ@w

S ¥ G w5 9 10 e foors @ wd=an 2

FEE TEo H1 SHH g9 q9g (fae #) ? .
(1) 28 (2) 30 (3) 25 (4) 35
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A train starts from Delhi at 8:00am. After 6hrs there was a breakdown in the train, due to which
it travels 2/3 of its normal speed and hence becomes 40 min late. If the breakdown would be
200km further then it becomes 30 min late only. Find the distance from Delhi to Jaipur? Reeta
g 8:00 TS Th o1 & BT 216 TS o ATG ¢ H SIheTaA §1 4T, Freeh 0T I8 U= 9T T
¥ 2/3 ITAT HAAT 2 3T TATAT 40 Tome 6 & Tt 31 Ti sersteT 200 fRHT 241 0T oF 98 shaet
30 fore < Br ST feeedt & srag st 8 Ara shifsrr?

1. 4400
2. 4200
3. 4000
4. None
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A starts from a place P to go to a place Q. At the same time B starts from Q for P. if after
meeting each other A and B took 4 and 25 hours more respectively to reach their
destination' the ratio of their speed is? A, Tohel T P W S Ha& U Py & Il 2| SHT au
B, P o feTT Q & 1% BIaT &, Ffe Toh-gul | firei o &g A 31 B 7 30T Hfsfet oeh ug=r &
foTT shwsT: 4 3T 25 5i¢ o1 ww fora, t Sshl TTfd shT ST T 82

1.3:2
2.5:2
3.9:4
4.9:13
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two trains A and B start from station X and Y towards Each Other they take 4 hours

48 minutes and 3 hours 20 minutes to reach Y and X respectively after they meet if

train A is moving at 60 kilometer per hour then the speed of the train B is? ar aﬁ‘ A

3R B €I X SR Y ¥ & gl & Uk gaY el 3T o SHATT: Y 3R X T Uge o fo1g 4
e 48 firme 3t 3 H2 20 fime o & afe 37 A 60 fereter ufa o2 6t fa & s W ar

< ST TTI?

1. 60KM/H
2. 64.8 KM/H
3. 54 KM/H
4. 72 KM/H
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A man travelled a certain distance by train at the
rate of 25 kmph. and walked back at the rate of 4
kmph. If the whole journey took 5 hours 48 min-
utes, the distance was

fordht =afaa 9 25 ThoHio/So i =T | o dTelt erme!
SR Wk g8 qF i e S8t g4 a9l § 39 4 fhRotiio/so
F1 I 9 USA FARL 99 F | A M- F Y KA
qqa 5 wue 48 fae ot =, @ g0 oft—

(1) 25 km / feHI. (2) 30 km / f&HI.

(3) 20 km / . (4) 15 km / fepH.
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A man starts from his house and travelling at 30
km/h, he reaches his office late by 10 minutes,
and travelling at 24 km/h, he reaches his office
late by 18 minutes. The distance (in km.) from
his house to his office is :

Ueh Sfed 94 R 9 30 foRHl./=e i =1 9 I il
I FEeE | 10 e 30 @ wgaar @ wafe 24 fF.
/521 T I F A i W18 e it 8 9 e

THdl 81 S¥% W ¥ wEed w1 g (TR #) ©
(1) 18 (2) 16 (3) 12 (4) 20
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A man covers certain distance by 10km/h and
becomes 15 min late.But if he travels the same
distance with 12km/h then he becomes 5S5min

late .Find the distance and correct time? Ueh

3Tt o gl 10 fohwl/sier & 7 shiar 8 31N 15
fie ol & ug=ar 21 wifer R ag 12 ferdfiyeier
< |1 FHT 3 oAl AT ohLal € dl e 5 e T

q ATAT 81 g SN T Y T hL?
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A man covers a certain distance from house to
office.If he travel @30km/h ,then he is late by 10
min but if he travel @ 40 km/h tjen he reaches his
office 5 min earlier, find the distance from home to

office and the correct time to reach the office? Ush

STeHT BT W SAThE Tk Tk Ffera gl a7 o ) 3R
g 30 forHi/sieT AT AT AT ®, Al 9 10 e hrad o
JTAT & AR TR a8 @ 40 fopHi/eer &t amm swar g
I8 5 T ueet 7o hraierd Tgdn €, T W gl oAl glf
T R SATTEH HI STFH Tg 1 &l qear?
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In a flight of 600kms,an aircraft was slowed down
due to bad weather. Its average speed for the trip 1s
reduced by 200km/h. and the time of flight increased
by 30 min. find the original speed? 600kms h ISH
o, GO« 919 o HIT Uk | €T 81 =T o I

foTq gkl sftea Tid 200 fo/ERT %1 81 ST 8, 3R
IS o1 THY 30 THe ¢ ST 81 7T 717 3 ol S

A. 400 km/h
B. 600 km/h
C. 800 km/h
D. None
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A man covered a certain distance at some
speed. If he had moved 3km/h faster, he would
have taken 40 min less. If he had moved
2km/h slower, he would have taken 40 min
more. The distance ( in kms ) is- T 3T&H! o
weh Tigra gt 1 %o id @ @ foham I o 3
fertfi/eieT a1 TrAar, af 9= 40 fuae &9 <an afe
g 2 Terwi/eer divt Tia & =rerar, ar 39 40 e
3Afereh Tl gl (Fehelt #) -

30 km
40 km
50 km
60 km

oo ®p
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A man covers a certain distance by his car.
Had he travel 6km/h faster then he take 4h less
time. But 1f he drive 6km/h slower then he
takes 6h more. Find the distance? Uk 3TTGH!
T R | Tk [fera gt @ tar 21 fe =€ 6
feRHi/eieT ot T § IATAT LT Al 39 4 °e A
I T ATk TR I8 6 Torel/siar ¢t i &
159 AT & 1 98 6 H¢ e il 81 gt 1

shifsre?




